


















Suppose f coooo is invested at 10 per annum

for years How much does it amount to

10000
I 000 14641

TRC 11000
I 100

You 12100 Amount Principal Iterate
1210

yrs 13310 A PCI Foo
I 331

Yet 14641

In this example A 10000 1.10

Ex 2 2 4500 is invested for 6 years
at 7 per annum What does it

amount to

A 4500 1.076

2 6753.29

on a reducing balance basic
A car costing 3 oooo new depreciates at
20 per annum Find its valve after 4 years

Compound Interest and depreciation


Depreciation



30000
6000 At end of Year

TRI 24000
4800 Value 12,288

4h2 I 9200
3840

4R3 15360
3072 Value Original x l Io

Yea 12288
Value 30000 X 0.8

12228




